BT

@

Art.No Fitting Pipep| H | W S Art.No Fitting Pipegp| H | W S
1026.038.304.S p38.1 30-80|640g| 2pcs 1026.038.316.S p38.1 30-80 |640g| 2pcs
1026.042.304.S @424 30-80|640g| 2pcs 1026.042.316.S @424 30-80 |640g| 2pcs
1026.048.304.S 483 30-80(639g| 2pcs 1026.048.316.S 483 30-80(639g| 2pcs
1026.050.304.S ®50.8 30-80(637g| 2pcs 1026.050.316.S ®50.8 30-80(637g| 2pcs
1006.060.304.S ©60.3 30-80|639g| 2pcs 1006.060.316.S 960.3 30-80|639g| 2pcs

Accessories

MOD

M6*10

M6

10mm

2pcs

e -©

MOD

M5*5

M5 | 5mm | 2pcs

L
I%

MOD

M8*50

M8 [50mm

2pcs

N
Vi MOD

P48*pl3

pl3

4pcs

s

MOD

M5*16

M5 |16mm | 4pcs




